
1 Person

20 min

EASY ALLEN

Nº 3

3

2

4

5

6

7

8

9

10

1

1

1

2

2

4

4

4

4

1

1

SOPOR-2P-2-9702

SOPOR-2P-2-9702

CASQUI------576

SILENBTM5-046/1

TORNI-I7380-493

TAPON--------85

ADHESI------258

9702F/H/N/WM3

Right support

Left support

Ø8 x Ø14 x 10 bush

M5x30 Ø11 ISO 7380 Allen screw

M5 silentblock

M5x1 nylon washer

M5x16 Ø11 ISO 7380 allen screw

M5 ISO 7380 screw cap

Stikers set

Sport screen

Nº 8

Nº T30

Pg. 1/4

ID QTY REFPART DESCRIPTION

 

WINDSHIELD  NAKED  NEW  GENER ATION SPO RTREF 9702

H U S Q V A R N A
V I T P I L E N  4 0 1  /  S V A R T P I L E N  4 0 1 

https://www.motorcycleid.com/puig/


4

5

2
6

6

A

 M OU N T IN G I N S T R U C T IO N S 

Pg. 2/4

3

21
ASSEMBLY

ASSEMBLY

A PIEZA ORIGINAL
 

4
ASSEMBLY

DISASSEMBLY

 
H U S Q V A R N A

V I T P I L E N  4 0 1  /  S V A R T P I L E N  4 0 1



4

5

3

6

6

A

M OU N T IN G I N S T R U C T IO N S 

Pg. 3/4

 ORIGINAL PART

87

65

ASSEMBLY ASSEMBLY

ASSEMBLY

A

DISASSEMBLY

 
H U S Q V A R N A

V I T P I L E N  4 0 1  /  S V A R T P I L E N  4 0 1



10

10

10

10

10

10

10

10

10

10

10

10

10

10

1

9

9

9

9

8

8

7

7

10

8

8

7

7

 M OU N T IN G IN S T R U C T IO N S 

9
ASSEMBLY

     
H U S Q V A R N A

V I T P I L E N  4 0 1  /  S V A R T P I L E N  4 0 1

Learn more about motorcycle windshields and fairings we have.

https://www.motorcycleid.com/windshields-fairings.html

